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Try to get the ratio of gamma to nbar
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In inclusive MC, n(gamma)=3532,n(anti-bar)=7855
From data, n(gamma)=5508,n(anti-bar)=5974

Need to correct the ratio of gamma in inclusive MC



Another variable (not MVA)
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correct result
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anti-n still not perfect
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A naive fit
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Next to do:
Use other exclusive MC to
describe other peak






anti-n BKG study
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anti-n veto
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MVA’s input variables

Input variable: LatMoment
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Input variable: A42
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U/O-flow (S,B): (0.0, 0.0)% / (0.0, 0.0)%

Input variable: lIndMoment
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Input variable: eSeed/eTotal
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Input variable: A20
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All input variables are from RecEmcShower
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MVA’s Output

TMVA overtraining check for classifier: MLP
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KoImogorov-Smlrnov test: signal (background) probability = 0.512 (0. 092) 7

MLP response

MLP>0.5
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U/O-flow (S,B): (0.0, 0.0)% / (0.0, 0.0)%



anti-n veto

=107 E

A B IR R R B
0 2 4 6 8 10

extra showers in 30°

criteria:
No extra showers nearby
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nbar shower seems right.

Maybe the ratio of gamma to nbar is wrong.
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check for MLP
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